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1. What is perfect oon%@mmos 7 Explain the short-run
and long-run equilibrium of a firm in this market. 16

ot gfoafiar @1 8 ? 39 INIR ¥ dTe d

eI § BH AgaT & AT B |
2. What is price discrimination ? How price determined
under discriminating monopoly ? 16

B fig w2 ? Yeued WINeR ¥ HHa 39
feiRa gl & ?

UNIT - 1I
gahTg — I
3. Define monopolistic competition. Explain the
equilibrium of the firm under this market. 16
TR wiaafiar o aRvmr IR | 59 areR A
FH & ARIAT DI ARAT BIIY |

4. Critically examine price rigidity model of oligopoly. 16
IR ma Rerar fagra &1 slelra-eTe
GETOT BT |
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5. Explain positive and negative externalities. How these
externalities are linked with market failure ? 16

eHTHS TAT FONHS JT8e] UHTd] &) FReT HIfIY |
At g9 fhE YR IeTR-a @) fAwear 9 9
&7

(2)

6. Define market success and market efficiency. Do

. Critically explain marginal productivity theory

faRer & AwiG Saedar Rigra @)

. Define nature of profit. Explain the different theorie

. Explain the following in brief : 2x8=14

agree that goods of collective consumption arc
important source of market failure ?

TR FHEdT AT II6TR AT B AR«
T Y 39 I W WeAd @ [ AnEifie
el RN TR fawerr &1 & Wd © ?
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1

distribution.

RAT PIY |

of profit. :

M @ UBa B gRaiva eI oM & At
Rrgr=t & e S|

UNIT -V
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fFrfalad o dag § aarer Sifsu
(1) Product differentiation.
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